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Answer all questions. .

All questions carry equal martks.

Only one answer is to be given for each guestion.

if more than one. answers are marked, it would be treated as wrong answer. )

Each question has four alternative responses marked serially as 1, 2, 3, 4. You have to darken -only one

circle or bubble indicating the cotrect answér on e Answes Sheet using BLUE BALL POINT PEN.

1/3 part of the mark(s} of each question will be deducted for each wrong answer. (A wiong snswer

means an incorrect answer or more than one answers for any question. Leaving all the relevant circles or

bubbles of any question tiank will not be eonsidered as wrong answer.) )

7. The candidate should ensure that Series Gode of the Quastion Paper Booklet and Answer Sheet must be
game after opening the enwelopes.. In case they are difterent, a candidate must obtain another Question
Paper of the same series. Candidate himself shall ba responsible for ensuring this.

8. Mobile Phone or any other electronic gadget-in the examination hall ig strictly prohibited. A candidate found

. .with any of such objectionable material with him/her will be strictly dealt as per rules. )

9. Please corectly fill your Foll Number in O.M.R. Sheet. 5 marks will be deducted for filling wrong or
incomplate Roll Number. ) . - _ y

10. If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English
Version of the question, the English Version will be freated as standard.

Warning : It a candidate is found copying or if any unauthorised maletial is found in hisher possession,
: F.i.A. would be lodged against him/hét in the Police Station and he/she would liable to be prosecuted
undet Section 3 of the R.PE. (Prevention of Unfairmeans) Act, 1992. Commissioh may also debar

him/her permanently from ali future examinations of the Comnission.
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1 Assertion (A) - Keys are the taxonomical ajg used for identifi Icatis, '

plants and animals

Reason (R) - Keys are based on the Conirasting characters generally in
pairs. %

Selgct thg _cor;eqt _ansvyer“.ps.in‘g.the codes _gi.ven. below :

(1) Both (A) and (R)I:_:z‘_l_'rs_.trqe_and (R) explains (A)

(2) Both (A) and (R) are true but (R} does not explain (A)
() (A) is true ang R} is false |

(4) (A) is false and (R) is true

T e e ——— .

BT (A) mwaﬁaﬂummmﬁ%a’rwzrﬁgeﬁa%
mw%gamﬁeﬁmﬁ%l

WUT(R) @Rw ﬁrwhﬂ T W arrmﬂa sﬁr B, S ama
e T B %1

R et R LR p———

D) FETHAY T s (R) @y ¥ T BT (R) oy (A) @
W wem '

@) =TT (A) a1 Hryy (R) TN 7 & ¥ arop R) FT (A) &7

() wuw (A)aa:r%amwm)mw%l
(4) aae:rq(A)amar%aaTW(R)w%:

HBS2 A] 2 [ Contd...



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

onsider the following statements :

Systematics is the study of diversity of organisms and their evolutionary

relationship.
(iiy The word ;systematics' has its origin from the Greek language.
(ii1) The word 'systematics' was first used by Carolus Linnaeﬁs.
Which of the above statements is/are correct ?
1) @ only
(2) (iij only
(3) () and (ii) bofh
(4) (i) and (iil) both
frafafies st X R Hi _ : f
() i vah (Rraf), e A Rt 7 o s e
| ‘ C e ©

‘ (i) Rresifer’ g @ Sur s W & g
1 iy Reedfea y @ I TR Howy fEE a fepar T e

TREm Y A/ A e A ¥/ ¥ 7

(1) @) &«
() (i) Had
@) O T Gi) IR

@) @) T (i) O
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3 - Bacteria are classified in the kingdom -

(1)  Animalia (2)  Fungi

(3} Monera (4) Protista
sty gy B o ¥

O el s @) HE s

G) A ¥ @ vfwr o ¥

4 Clﬂorophyll 2 + ¢ are found in -

(1) Rhodophyceae (2) Phaeophyceae
(3)  Chlorophyceae (4)  Cyanophyceae

RN 2 + c T W 3 ;

(1) WSreRdr § (2) Tramedr §
®) TR ¥ @ i § f

S Presence of archegonium is a common feature of :

€3 Alg_ae, Fungi and Bryophytes

(2) Fung, Bryophytes and Pteridophytes

(3) Bryophytes,. Pteridophytes and Gymnospérms
{4 Pteridophytes, Gymnosperms and Angiosperms 1

HBS2 A 4 [ Contd...
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ascular tissues are present in :

(1) Pteridophytes, Gymnosperms and Angiosperms
(2) Bryophytes, Pteridophytes and Gymnosperms

(3) Algae, Bryophytes and Pteridophytes

= ,ﬂ . s

(4) Fungi, Algae and Bryophytes

Hoed A T 9w ¥ i

(1) remey, Py @ ey
@) s, dRewEeg I R |
@) dvawl, arieEgs 9 RErerey X

@) @, forht = e

TR T e et B s 2

LR R L

7 Double fertilization is characteristic feature of :

Tl o

e SRR AREIAE 8. S et e

(1) Gymnosperms (2) Angiosperms
; (3) Bryophytes (4y Pteridophytes |
]\ e Rt & |
| (1) TRy @) wpodwEE B

(@) WEEEE B | @) e #

[T

! 8  Which of the following mollusc has an internal shell®?
(3) Sepia (4) Lamellidens 1

ﬁwﬁ%ﬂﬂﬁﬁwﬁm&mm(ﬁ)w,ﬁm%?

} (1) Hfeed (2) e A
i% ) adr 4) AR '
|
HE32_Al 5 [ Contd...


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

9 Mast cells secrete

(1) Thromboplastin ° (2) Heparin’

(3) Endorphin ) Y-Amino butyric acid
TR WA B w3

() s 2 fafm

() weRfem - @) ey i sy

10 The type of r(_espiration fdund ‘i Taenia solium (Tape worm) is -
(D | Aerobic (2). Endorespiration
3) Scotorespira_tion_ (4)  Anaerobic
-éﬁw%w(ﬁmﬁ)ﬁm&wﬁaﬁswmm%n
(1) gy @) reaay

®) e 4 ey

I When the flowers are arranged in basipetal order, the inflorescence is

termed as
1) ng%ge (2) Cyathium

(3) Racemose (4)  Verticillaster |
wgwamﬁmﬂmﬁaaﬁaaéﬁ%,mgwmm%:
(1) welemeh (2)  wraftr

(3) o | : 4) Peamw

HBS2 A ] 6 ~ [Contd...
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terile stamen is Termed as :

- (1) Style (2) Stigma

(3) Staminode (4) Synandrous
% (1) R @ e

@) wirhs @ fesE

iy o
Ay e T

R
TR

R E

13 Drupe type of fruit is found in :
(1) Banana and Apple’ (2) Mango and Coconut

(3) Tomato and Brinjal (4)I ‘Wheat and Rice

S

ST TER ® BW T™T W T

(1) @@ 9 a9 A Y@ om AR ¥
@G TXIFIWE 0 (@) T gEw A

; 14  Which of the follqwing organisms are examples of pquaryotic cells 7
(1) Bacteria and mycoplasma
j (2) Blue green algae and red algae
\ (3) Mycoplastna and fungi -~ . i
(4) Virus and brown algae B
Prfifan et & & orfebee AR@RN B sww A9 A ¥ 7
(1) e T A | S
@ W g dE T S?ﬁﬂ?l T | T
(3) WEHHT q Hech | o
(4 R g gl e
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15 The cell organelle responsible for cell plate formation at the time of cell
division is :

(1)  Chloroplast (2) Endoplasmic reticulum
(3) Golgi body (4) Mitochondria
A fraeE % @ e veehie Pl ¥ s S
\ (1) wERRe @) wSrEn g
(3) T wH (@)

16 In meiotic prophase I, there are five sub-stages :

' (i) Pachytene ' (i) Zygotene
(i) Diplotene ~ (iv) Diakinesis
(v) Leptotene
The correct sequence of these 5 sub-stages is :
Q) @ G, @) @) @ |
@ G, G, &), @), O
@) @), O ), @, G
@ ), G, O, G, )
sty R @ Ww 1 A diE Sv-eEeang Bl ®

() vEEIM | (i) TEIEE
(i) | (iv) SHEHEARE
Y(v) WRRE

T 5 -l @ e WW e ¥
M @, Gi), @, ¢, )
@ @), GiD), @), ), O
@) Gv), G), ), @D, (i)

@ W, @, 0 (ii), (iv)
"HBS2 A ] 8 | [ Contd...
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19

Which of the following cell organelle possesses a single unit

membrane ?
(1) Chloroplast (2) Lysosome
(3) Mitochondria (4) Nucleus

ﬁﬁﬁf@aﬁ@ﬁﬁmaﬁfﬁmwﬁﬂwm'%ﬁm%é

(1) =R (2) wEEEm
(3) wRImifear 4 iRy

In mitosis, the number of chromosomal and nuclear divisions,

respectively, are :

(1) one and one (2) one and two

(3) two and two (4) two and one

- RN et ¥ oreha o S Rt @ dem mh o d

1) = 9w @ wad

G FATF - 4 &« T TE

Site of protein synthesis in a plant cell is :

(1) Golgi body (2) Lysosome
(3) Mitochondria (4) Ribosome
Wﬁﬁmﬁm‘dﬁaﬁﬁwmmﬁm%:
(1) TSl s 2) <EEEw
() R (4) e

HBS2 A] 9
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20 When the position of centromere in a chromosome is in the middle
part, the chromosome is termed as :

(1) Acrocentric . (2) Acentric

(3) Metacentric | | | (4‘). - Telocentric _
_WwwﬁmaﬁﬁaﬁrMHﬁwﬁaﬁ%ﬁmw
HEART ¥ : |

M w0 e

3 uemfzw @ dRfes

21. Antidiuretic hormone is synthesized by
(1) Pars distalis
(2) Pars intermedia
(3) Pars nervosa .

(4)  Neurosecretory cells of hypothalamus
WRprEds B w deww Reed @ g .
() W RRfw |
@ W sl

© o

) Elsq’r&?fw £l aﬂ%m SRR SR &R

22 During’ relaxation of a muscle the ions pumped back_'i'h't'b the sarcoplasmic
reticulum are that of -

o g Mg
@) K+ S @ Mot
e & R % o R o 9 A s ¥ g
fom wmar %, 3 2 ‘
(1) Cat+c (2) Mgt
Gy K+ - 4) Mn*

HBS2_A] 10 [ Contd...
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23 The pH in the healthy human stomach and intestine are respectively :
(1) Acidic and alkaline (1.8 and 7.8)
(2) Alkaline and acidic (7.8 and 1.8)
(3) Acidic in both (1.8)
(4) Alkaline in both (7 8)
W%Wmamamm%ﬁmﬁmmﬂ é’l‘c‘i’r%
(1) orcts wem @wdE (18 and 7.8)
(2) @rdw wEr I (7.8 and 1.8)
(@) QA ey H GWﬁHI(I.S)
(4) <= & o A0 (7.8)

24  Which cells of islets of Langerhans secrete hormone Gastiin ?

(1) o - cells 2 B - cells

(B3) & - cells (4) Goblet cells

A d A A A e Ve T e wd b e
1) o - Wi @ B - a?rfémv.

G 5 - P @ e B

25 In Krebs cycle, a 6-carbon compound is formed by the combmatlon of

acetyl co A and s
IV 31

(1) Succinic Acid () Oxaloacetic Acid

(3) Citric Acid (4) Malic Acid

el T A 6—%%@@%@2@#@@3%%%%
T W A ¥ -

(1) S ) ala%ﬁ\%éﬁa &

(¢) Wfw ovm ORE: L

HB32 A] 11 | | ~ [Contd...
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26 Mammals have the ability to produce concentrated urine. In doing so
successfully the following structure plays a significant role :

(1) Bowman's capsule
(2) Columns of Bertini
(3) Henle's loop and vasa rectae

(4) Medulla and cortex of kidney

W AR g S SO B W 9 B ¢ | U Sweayed we o
Frefrs e & e qiE e) %

(1) /7 & wge
(2) S B
(3) ¥ W Y AU g LEX

4) quwiﬂﬁma@—c.'

27  G-proteins in cell function as :
(1) Carrier proteins
(2) Enzymes
(3) Signg}_l_liqducer and modulator

(4) Facilitator of protein synthesis

Hy@EE ¥ G WEE & e ¥
W) < fe

2) %"WYW

() HiY W& oY Tvawm

(4) TN WUl B WELH

HB82_ A ] : 12 [ Contd...
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28 Which of the following are means of vegetative propagation ?

(1) Bud and Seed

(3) Rhizome and Gametes

(2) Gamete and Bud

(4) Runner and Rhizome

frefifan & & i T b W AT 3 2

(1) femwr g €

(3) < ¥ gHs

(2) TUH T HicwH
(4) SURYET ¥ @<

29  Asexual reproduction in Chlamydomonas takes place by means of :

(1) Bud

- (3) Gemmule

(2) Conidia

(4) Zoospores

FoHEE § SNE W= dar ¥

(1) v @
(3) S

(2) =R B
(4) <SS 'R

30 In a typical anther of angiosperms, the number of microsporangia is :

(1) one

(3) three

2) two

(4) four

A ¥ T el T ¥ gt @ e ad b

I T

(3) W=

HBS2 A]
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31 Consider the following statements :
(i) Gametes are always haploid
(i) Male gametes are always motile in all the plants

(iii) Female gametes are always larger in size as compared to the male

gametes in higher plants
Which of the above statement/s isfare correct ?
(1) () only
(@) (i) only
() () and Gi) both
@ () and (ii}) both
frataan s @ RRr @R e
G) gwe oI dPE AT T
(i) “meﬁﬁmaﬁm%a—a%.

(i) TreT e goT R ¥ w¥Y T geTH oY g A W oG &
SRk

TR A A B W W w A E T
(1) (i)%ﬁ |

2) (i) o

(3 @) 7 (i)

@ () 9 (i) 9=
HBS2 A ] 14 [ Contd...
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32 In angiosperms, zygote divides ‘mitotically to' give ‘rise to ¢
(1) Embryo . :4{2) Endosperm L
(3) Fruit ' o (4)_ Ovule o
SR X g m@u fawm f e
® 2 @
() W& (4) s

33 Pollination with the help of water takes place in : e
(1)  Triticum and Hordeum (2) Pisum and:Helianthus -
() Helianthus and Vallisnaria  (4) Iﬁ{{igf_ﬁrqria and {{ydrilla
() RPww 7 adfgw # Q) a5 e #
() kg g e & o0 @ WA R

34 In anglosperms a typlcaI embryo sac at mafunty is : “
1y 8- nucleate 7 -celled T TE
2y 8- nucleate, § - _cell_ed P T

. (3) 7 - nucleate, 8 - celled g
(4) 7 - nucleate, 7 - cei!ed

B
ST WWWﬂnﬂuﬁmi’r 'al ¥

(1) 8- %o, 7 - sy TEH
@) 8 - e, 8 - wE R
Gy 7 - i, § - SR
@) 7 - dE, 7 - wiyeE

T IH B L.

HBS2 A | 15 - [Contd...
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35 Which one of the characters of pea was NOT studied by Mendel ?

(1) Cotyledon colour . © (2) Pod shape
 (3) . Seed colour . ~ (4) Seed shape
 frefitae & & B, qaawmmﬂaa%wa@rfm ?
1) S B ‘2) W B AP
(3) €T H LT , (4) o B A

36 In pea, dwarfness of plant is :

(1) Dominant ch'afacter (2) Recessive character
() Incomplete dominance ) Co-dominance
wex ¥, Y &1 IS %

(1) wAEN W () AT A

@) st e @& w wE

37 IfF, generation pea plant, obtamed by crossing pure red and white flowers,
is self fertilized, the genotypic ratm of its offspring would be :

1 1 pure red : l white
2) 3 pure red : 1 white
(3) 1 pure red : 2 Impure red : 1 white

(4)' 1 Impure red : 2 Pure red 1 whlte

uﬁ:@g@mﬁa@ﬁgﬂxﬁwéw Flrﬂﬁr%m%ﬂi‘r@(
ﬁw—ﬁﬂaﬁé\m%,ﬁﬁaaﬁrﬂﬁﬁwaﬂmm

(1) 1 9= ¥« : 1 9%
) 3 gE W 1 @6
(3") [ g W6 2 AYE W 0 1 Whe
@ 1 e oW ;2 % 9w : 1 §be

HBS82 A} 16 [ Contd...
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39

'Chromosome theory' of inheritance was proposed by :
(1) Bateson and Punnett

(2) Britton and Davidson

(3) Schleiden and Schwann

4 Sﬁtton and Boveri

argaifdma & o g’ wga e mwen an:
(1) S2ET 9 YT aW

(2) BRrE 1 fEw ww

@) WRY ¥ @[ 8

(4) W ¥ g8 ZW

Consider the following statements :

(i) Sex determination in human beings is of XY type.
(i) There are 23 pairs of autosomes in human beings.
(itf) There is male heterogamety in Human beings.
Which of the above statements is/are correct ?

(1) (i) only (2) (i) only

(3) (i) and (i) both (4) () and (i) both
Refia wait w0 Rreme R

@ wrEt ¥ f fraier Xy weR @1 @ ¥

Gi) wFel ¥ orfem Rl (SiehErE) ¥ 23 W R ¥

(i) W § T fremgmar @EERRE) g ¥
TR A I I @/ A FGT G & [ § 7

(1) @) »aw 2) (i) ®aw

3 @ = @) @ (@) T (i) A

HBS2_A] | 17
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40 Tendency of two or more genes, located on the same chromosome, to remain
together during inheritance is known as :

(1) Epistasis

@) Compl'ilment'ary genes
(3) Linkage

(4) Supplementary genes

%ﬁwwﬁﬂﬁﬁmmmmmﬂﬂ@m%ﬂmmﬂ
Eﬁa%’ruqf%rﬁwrﬂm%

(1) P ENGL
@ T S
(3) EeAl

@) T S|

41  The hypothesis that "the early atmosphere of earth combined with an energy
source produced organic monomers” was proposed in 1920s by :

(1) Curie and Pasteur : |
(2) Fox and Pauling
(3) Miller and Urey

(4) Oparin and Haldane

NP, S — kL
gﬁﬁ%wﬁj’sﬁu&mmﬁmo%wﬁmﬁam:

(1) *=H T w9 A
@ BEg F d0AT 3
@) fem @ g X
@ omifT a Twed A

HBS2 A ‘ 18 - . [ Contd...
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42 Identify the correctly matched ﬁ‘ai}r‘;:___' Lo |

o T
D NS R AR e PR

(1) Parkinson's disease Defect of brain

(2) Blindness Degeneration of corpus callosum

(3) Schizophrenia ~ Non functional Broca's area

(4) Increased activity of gut, Activation of sympathetic nervous
iris and urinary bladder system

T S BT B .

(1) uEiEe =l Hiaes R

2) U G e B AU

@) i Qe A B o REy B

@) oiradl, it T SgH Tg dF B whem

g & feaelt ¥ gy

43 A normal ECG (Electrocardiogram) is composed of :

M
@
()
(4)

P, Q and T waves
P wave, QRS complex and T wave
PQ, RS complex and T wé.ve

T wave, SR complex, QP complex

M
)
()
4)

HBS2 A]

P, Quawm T ot &
P 981, QRS wRew @ T o7 o
PQ, RS wifew wom T ai7 &

T @@, SR qu1, QP wifew &
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44 Hyper secretion of “growth: hormiéne’ in humans after puberty is the

cause of
(1) Giantism (Gigantism) (2) Dwarfism
(3) Being a eunuch - @) Acrpmcgaly

et B AT % UEE gE TN 6 omite e @ %

BRI B ¥
(1)' atfereerat (SRS | 2 a‘mmj
(3) TgEH &M (4) UmREE

45 Select the correct pair of bacteria and the disease caused by it :

(1) Mycobacterium — Diphtheria

(2) Vibrio cholera —  Tuberculosis

3) Mycobacterium leprac  —  Whooping cough
(4) Treponema palladium —  Syphilis

e Fon T @ W ol ¥ ud SR B @Y

(1) TERBARER — R
@ Tl s ol SASk AR

@) wERwRmE AR — g @ (G @)
.(4) A A —  fufsia
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46 Convex lens should be prescribed to person. suffering from : -
(1) hypermetropia (2) reduced intraocular pressure
(3) myopia : (4) exophthalmic goitre

mwcm)ammmﬁwﬁmﬁ@mmwam
e ¥ P e o

(1) =T Fgfe (sl wvd)
(2) o =Wy TR A HA

3) F@e i |

() S ¥

47 Identify the genetic disorder due to mutation of dominant gene of 4%
chromosome in human :

(1)  Alkeptonuria _ (2) Huntington ého_;ca |

(3) Wilson's disease (4 Albinism
Wﬁwxu)ﬁmwﬂ?ﬁmﬁaﬂﬁéﬁ%weﬁaﬁm
il aRat

(1) wEHEEERE @ €Few @rﬁm |

@) e s @ o @Ree)

48 Muga silk is obtained from cocoons of : _
(1) Bombyx mori (2) Antharaea paphia
(3) Atiacus ricinii (4) Antharaea assama
qu W e e e ¥ _
() @ 7 B & () g v ¥ e ¥

G) wow AR F BgT ¥ () wRar o % B
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49 Plants adapted to grow in acidi¢ soil are termed as :
1) Halophytes. (2) Heliophytes
(3) Oxalophytes- (4) Psammophytes
sl g ¥ N 9@ ORY HEAR ¥ oo
(1) IEEE : ) afwEreEzE
() eI ) SEREE

50  Viviparous germination is found in :
(1) Halophytes (2) Hydrophytes
(3) Mesophytes (4) Psammophytes
elaysid SiPT YAl W@l ¥
() YeweEm ¥ @) wEsreEE
B e ¥ ) ey ¥

51  Which of the following soil-types has maximum water holding capacity ?
(1) Clay (2) Loam
(3) Sandy 4y Silt

Proffi o @ A & G ~ TER ¥ il S o ww A ¥ 2

(1) TR () () zuz (dm)
(3) =g (Gvd) @ = ()
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52 The phytoplanktons in the ponds act as

(1) Producers (2) Primary consumers

(3) Secondary consumers (4) Decomposers

T & TR - A wE B E o

(1) JuEs % 'y § ) mﬂﬁm@fﬂamaﬁ%wﬂf

®) fudtw swieel ¥ W A () owme ¥ wq

33 The efficiency of an ecosystem is best depicted by pyramid of -

(1) Biomass (2) Energy

(3) Number 4) Volume

U wiRafos @ A cwm wew yeR @ welia e B -
(1) s 7o ffe @mr 2) =t R gy

(3) den e g “4) g o @z

354  Which of the following is a correct sequence of food. Chain ?

-_(1) Insect — Fish — Zooplankton — Phytoplankton

) Fish N Zooplankton — Phytoplankton —s Insect

(3) Zooplankton - Phytoplankton — Fish —s Insect

(4) Phytoplankton —s Zooplankton — Insect — Fish
Frafefas & & v Y@ @ 9d By ¥ -

D) e - B o wgEEs - TETEEE

) B - TgETE - TRUEEE - HiE

3) GITQ’W - TRIET®E —» 980 — BT

(4) TETEEE - WPWEE > T - qHE
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85 In a grassland ecosystem, rabbit acts as :

(i) Decomposer

(3) Secondary consumer

g & fer ulfales @ §, @iy o™ wEr & -

() ve®s & &7 H

(3) Tdms Sawledr & w9 ®

56 Planula is a larval stage of
(1) Obelia
() Ascaris
o W ereen ®
() oiekrr at
(3) TR B

(2) Primary consumer

(4)

Producer

) vl SuHeT & ®Y A

(4) TuRH & @9 H

2

@)

3]
(4)

57 What i_s true about Archaeopteryx ?

(1) Connecting link between reptiles and mammals

(2) Fossils of coenozoic era

(3) Flying dinosaur

Taenia

Pheretima

g @t

S @

(4) Connecting link between reptiles and birds

NREA T & I o =1 9w ¥ 7

(1) wigd 9 @ al B st a9

(2) TAeiE® w@ @ Ry
(3) TSSO SEEER

@) wigw ¥ vl & SigTar s
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58 Match correctly the animal with their larval forms -

(I)  Palinurus (a) Alima
) Squilla _ (b) Phylliosoma
() Asterias | (¢) Ephyra
(IV) Aurelia (d) Hexacantk
(V) Taenia _ | I(e) Bipinnaria
Code :

1) @O ®. 4D @), (1) (e), IV) (IC), (V) (@)
@) O @), 4D (), A1) ®), (V) (), (V) (&)
G @ (e, () (a), 41D (), AV) b), (V) (&

- @) (@) @), D) (e), () (2), AV) (), (V) (b)
T g § O WRAT % WS @ §E AW B

O e () @ g
@  spem OW
am eRaw © gwEay
(V) amfiferar @
(V) © R
7w :

M O G @ @, w4 @), 0V) ©, V) @
@ O @, @ @, () b), AV) @), V) ()
3) O (@, ) @), 0 ©), AV) b), (V) @

@ O (d),_ (5 (e), (1D (), (IV) (c), (V) (b)
HBS2_A | 25 L [ Contd...


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

59 The following characters of a group of vertebrate animals ectoparasite on
fishes, body elongated, devoid of scales and paired fins, bearing 6-15 gill
slits, mouth circular, sucking without jaws, will be included in

(1} Choudrichthyes (2) Osteichthyes

(3) Cyclostomata (4) Gnathostomata

Wﬁﬁ%@ﬂﬂ?%ﬁﬂm'aﬁw“wqﬁzﬁ,
wdRTa, el qen gima Tl @ oWE, 6-15 Fm R, g@ T,
e THR @ aur s ®a F ER W AR e

(D | HgHaEy | (2) oReHaES
(3) EEFAIARE @) TWeORmE

60 Consider the following statements :

(@) Caryopsis is characteristic feature of Asteraceac

(i) Lodicules are présent in Poaceae

(iii) Flowers are epigynous in Apiaccae

Which of the above statements is/are correct ?

(1) @) only () (i) only

(3) (i) and (i) both (4) (i) and (iii) both

Prafafaa wual w e @ibd

G) ¥y, @@ @ fiRre @@ ¥

(i) vy, dgd # swRew @@ €

(i) chred ¥ wwrRes g A ¥

SRR A A BT W [y T E@E ¥ 7

(1) @) %aw (2) (i) %

(3) (i). q (i) q @ G T @)
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61 Match List-I with List-If and select the correct-answer _y_sing_t,hq codes given
below the lists :

List-1 (Family) List-II (Character) -
(A) Apiaceae : (i) Apocarpous ovary
(B) Asteraceae (1) Spikelet inflorescence
(C) Poaceae (iii) Stylopodium
{D) Ranunculaceae | {iv) Syngenesious stamen
Code :

(1) (A0, B)), (O)iii), (D)-(iv)
@) (A)@), B0, (O-iv), (D)-ii)
(@) (A, B)-Gv), (O)-(), D)-(1)
@) (A)-(wv), (B)-(iii); (©)-(), (D)-(i)

-1 gar gA-1 @ gl AR qen Rl & R RS T g W
I H@ FY A TR B OEEA B |

-1 () e )
@ o () Prgasd
®) TR ) e gew
(© g (i) =g
D) g (iv) g gHat

e -
(1) (A)-0), B)-ii), (CO)ii), (D)~(iv)
@ (A0, B)-@), (O-Gv), (D)-(iir)
B) (A, B)-v), ©-@), D)-6)

@ (A)), B)Gi), (O-0), D))
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62 1In dlﬁ'erent genera of which family, more than one type of placentation,
namely marginal, axile ‘and basal types are found ?

(1) Apiaceae (2) Asteraceae
(3) Poaceae 4) Ranunculaceae

%ﬂ@ﬂsﬁﬁma&ﬁﬁ@ﬁmﬁam Se-dmr, wﬂﬂaamemr&u
JreE T oS €7

(1) uiEd 2) TERW™
(3) TaH ' @ AR

63 Immunoglobulins are produced by :
(1) Natural killer cells (N K Cells)
(2) Memory celis
(3) Cytotoxic cells

(4) Plasma cells

Emﬁﬂiﬁﬁ'ﬁ'ﬁ? Hl IUET W T

1) ke R FfmwE (N K Cells)
@) il S
(3) wnddtmm @il

(@) e LAt ican

64 Wﬁch one of the following 1s not an infections_ disease ?
(1) Cancer (2) Common cold
(3) Swine flu (4) Tuberculosis
Frerifir e G T ¥ 7
M ROl 2) T G
(¢) @ &
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65 A colour blind male (human) mames 2 normal VLSloned‘femaIe How many

of the daughters will be carries of this tralt ?

)

3)

100% (2) 7%

50% @ 25%

TF il @il (we) W faw w e ghe awt s ¥ @

Wl & el geRl § feat fem it @ aes e ?

M

€

100% @ 75%

50% @) 25%

66 Cotton is obtained from the surface of -

(1) Fruits of Gossypium species

(2) Stem of Grewia species

3)

“

Seeds of Gossypium species

Stem of Corchorus species

@ W B AN S

(1)
@
€)
4

HBS2 A ]

TR SR % we @ v @
Tyt % o N waE A

TR woREt % A @ www d
FRay woidl % o & w6 ?
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67 Main difference in the chemical constitution of wheat and rice is the

presence of :

(1) Glucose in wheat and its absence in rice
(2) Glutenin in wheat. and its absence in rice
(3} Proteins in wheat and its absence in rice

(4) Starch in wheat and its absence in rice
ﬁéqﬁw%wﬁmﬁmﬁwﬁ@w%:

(1) ¥ ¥ e B Rl waw ¥z aguafy
@) ﬁgﬁw@ﬁwﬁm@mﬁwﬁmﬁ
) T A NI B suRafy oF wew ¥ s emguRufy
@ I ¥ @ ® sukafy oo wew ¥ s sequRafy

68  Which of the following plant part of Withania somnifera is used for
medicinal purpose ?

(1) Root _ (2) Stem
(3) Flower _ | (4) Fruif

ﬁ%ﬁﬁmmw%%ﬁmﬁwmﬁ
Sug H faar sy ¥ 7

(1) =% =i 2 a =

G mwma @ v @
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69 Gum guggal is obtained from :
(1) Commiphora wightii (2) Convolvulus arvensis

(3) Grevillea robusta @) Guazuma ulmifolia
e e ard far war ¥

(1) @hflwla ad I Q) @iagET m&'ﬁw%
() Bt dswr | (4) QTG BT |

70 Which of the following are responsible for differentiation of embryonic
© clumps during somatic embryogenesis in dicot cultures ?

(1) Auwxin and Cytokinin (2) Auxin and Cytochrome.
(3) Ethylene and Abscisic Acid (4) Gibberellin and Auxin

Frffen & @ @, Py s ¥, R seigeET & de
yoigwd wget & Riter % fg wewd @ ¥ 7

(1) o 9 aEdertea 2) TR T RAHE
(3) zawEN 9 el e (@) e 9 etite

gA ! | The first human hormone produced successfully, using biotechnology, was :
(1.) Adrenalin (2) Calcitonin
(3) Human Growth Hormone (4) Humulin
S & I ¥ aEwEEe SO fodar TR A T ol
(1) e @) e
(@) ' W EwEE @) e
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72  Flavr-Savr tomatoes were produced by blocking the expression of gene
responsible for production of :

(1) Pectinase (2) Polygalacturdnase

(3) Amylase (4) Chitinase

Rt A T S Bk T, 9w A A o @ oms w,

(R R A B o
(1)  Ufrss ST &g S (@) Uiy AT &g
(3) TIENS SUES ¥ (4) WERAY SOEA ¥

73 "Golden Rice" is enriched with precursor of which vitamin 7
a A 2) B
of = I @ K
‘o e’ fow fOBF % ToTR @ QY @@ ¥ 7
1y A B (2) B

G C 4 K

74  Genes which permit identification of recombinant clones are known as :
(1) Adapter gene | (2) Expression gene |
(3) Linker gene (4) Reporter gene .
JErT wA % ofeRrEr B eeRE w T o wea ¥
(i) TR W (2) UEEHIE S
(3) femy o (4) TRz =i
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75 An example of artificial chromosome vector is : -

(1) Cosmid () Fosmid
(3) Phagemid  (4) Plasmid
FRM HHE YR T T wE o

(1) it ?) TR
() etiE @ wfwe

76  The enzyme used to break phospho-di-ester bonds of a DNA molecule at
specific sites 1s :

(1) Endonuclease (2) Ligase

(3) Lyase (4) Restriction endonuclease

AL o & R ww $ wm-sE-TEX S @ ds g vy
fod o T TomwRE ¥ |

(1)  gUsigfmgs @) wEw
(3) B (4 fRzem wegfmus

77  Successful establishment of a migrated species in a new area is

termed as:
(1) Aggregation (2) Competition
(3) Ecesis (4) Stabilization

m%qﬁiﬁ,qﬁwﬁfﬂsﬂi}%ﬁﬁwwﬁrwm%}
(1) W (2) vt

() e @)
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78 Which of the plant species represent the submerged stage of hydrosere ?
(1) Eichhornia and Trapa (2y Juncus and Carex

(3) Dpha and Rumex (@) Utricularia and Elodea

Wﬂﬁ%ﬁﬂﬁwwﬁﬁmﬁmmﬂ @l

g € 7
(1) omgEIRRT I (@) ww§ T @™

() ZweT T [T @) ghgarer a s

79 Monoclimax theory of climax community was proposed by :
(1) Champion (2) Clement

(3) Tansley (4) Whittaker

80 Which of the following is a non-biodegradable material ?
(1) Cloth (2 Lead
(3) Leather 4) Wood
Wﬁﬁ%ﬁﬂmw&aﬂmmﬁﬂwﬁ% ?
) @) @
@) = o (@) W@
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81 Which of the following biogeochemical cycle is of sedimentary type ?
(1) Carbon (2) Nitrogen
(3) Oxygen (4) Phosphorus

Frafifes & & 5 @ Sa—yy<amte o s@Ed @ ¥HT 5

Bt ¥ 7
() @A . | (2) I

() omET (4) wERE

82  The organic gaseous pollutants of air are :
(1) Carbon-mono-oxide and Sulphur-di-oxide
(2) Fluorine and Ammonia
(3) Hydrogen cyanide and Peroxyacetyl nitrate

(4) Nitrogen oxide and ozone

@ % wHm A T ¥

(1) HT-HR-ofeRs T Fvei-SE—ataaEs
2 wWE T emtm

(3) TR MRS 9 TWOTE THREE 5T

(4) -EASE ofiFEEs g NN
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§3 Ambient noise standards for residential areas during day and night are

respectively
(1) 50 and 40 decibels (2) 55 and 45 decibels
(3) 65 and 55 decibels @ 75 and 65 decibels

o s ¥ R AW ik AFe R = ufy ¥ wew ¥
(1) 50 @ 40 sfyEw (2) 559 45 =d

(3) 65 T 55 " @) 759 65 SfyEw

84 Which of the following is not used as a assisted reproductive
technology ?

(1) Intre-Uterine Insemination (TUT)

(2) Intra-Cytoplasmic Sperm Injection (ICSI)

(3) In-Vitro Fertilization (IVF)

(4) Coitus on days 14-16 of menstrual cycle

Frq & ¥ B weEE WO ai® & o ¥ e K T8 W S ?
(1) o auive FiEe (9d.q.em)

2) ot Byl Fell T SRR Ead)

@) TRE fRw (ErEATs).

@) _Wﬂ ¥ Ram 14-16 § Jy= fe
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85 Which of the following phase is not. associated -with menstrual. cycle of

human female ?

(1) Follicular phase

(2) Phase of sexual heat Libido'

(3) Menstrual phase

(4) Luteal phase
ﬁwﬁ@ﬁﬁmﬁ@ﬁﬁqwmﬂﬁ% ?
(1) ghwwma (BfwrER) wE

2) T

(3) el (mrEEr) Im'aw

@) A (ghaw) waeE

86 Which of the following is not a male hormone ?

(1) Androstenedione (2) _Dihydroxytestosterone
(3) 17 p-estradiol (4) Testosterone

Prer F ¥ @9 @ W gE @ ¥ ?

(1) TEEFEEE | (@) TETEIWERN TR

(3) 17 p ugEEW @) TRRIH
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87 Foetal membranes of a mammalian embryo are derived from -
(1)  Granulosa cells
(2) Corona radiata cells
(3) Trophoectoderm
(4) Toner cell mass |
R E g # oqm Rl few @ saet Oy 3 P
() dgde e d
(2) BT WA Fiywe q
(¢) TwRwmaed §
4 oliE HRE T §

88 Identify the milk ejection hormone (s) :
(1) Vasopressin
(2) Luteinizing hormone {(LH)
(3) Follicle stimulating (FSH)
(4) Prolactin and oxytocin
39 T el ot
() <J=RE
@) Rt T (oW te)
0) W A (T T T3)

@ vl a9 sl
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89

90

In human males the synthesis and secrefion of androgen hormones from
testis is stimulated by -

(1) MSH (Melanocyte Stimulating Hormone)
(2) LH (Luteinizing Hormone)
(3) TSH (Thyroid Stimulating Hormone)

(4) ACTH (Adreno Corticotrophic Hormone)

w%m'ﬁ@@ﬁasﬁﬁ%mﬂwamwaﬁaﬁﬁam
ST ¥ :

(1) MSH (fvFeEe W& a3 &
(2) LH (cgdrmshi smit) & zm

(3) TSH (W=Rig® & sm@F) & g

@ ACTH (fefaatm wwiq) & =

The secretory function of the corpus luteum is maintained by :
(1) Prolactin . (2) Estrogen

(3) Progesteron (4) Oxytocin

B FRam & =@ W 9T @A b o

(1) W (2) &N

(3) WA (@) et
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91 In a transverse section of Mammalian seminiferous tubille which of the

following is not present ?
(1) Spermatocyte (2) Spermatid

(3) Immobile spermatozoa (4) Mobile spermatozoa

Al B g AET % guE mie § Preifed § @ @b @ suied

T B ¥ 7
(1) ] i Q) s
() erfydier g @) . nashw® g

92  Which of the following is not a function of a placenta ?
(1) Sex steroid secretion
(2) FSH and LH secretion
(3) Human chorionic gonadotropin secretion

@) Relaxin secretion

P A A e B oM (W) ® oA ¥ 7P
1) Fr=ERgs w@aw

(2) T® U@ U9 JU1 U@ T B 9O

(3) W WG TSI @ Fan

(4) T &1 gaw
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93  Identify the set of hormones that induce(s) prohferatwe endometrial changes
. in mammalian uterus that prepare it for blastocyte implantation.

(1) Corticoids and somatotropins
(2) Estrogen and Iprogesterone
(3) Relaxin and Oxytocin
4) T.S.H and thyroxine

W%ﬁsﬂ%mﬁm%ﬁw%ﬁﬁ@%aﬁmﬁ
e @ G wO AW A WE B

@) Tawds am KGR

(4) Auwggs. (TSH) q@ TR

94 Archaenteron is formed in :
(1) Morula (2) Blastula

(3) Gastrula (4) Neunla
SRANEN (re) & Frefm e ¥

(1) Wrewr (2) AR ﬁr'.
(3) e A @ e A
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95 The mesenchymal cells which aggregate to form blood island are called ?

(1) Haemoblast {2) Mesoblast

(3) Fibroblast (4) Angioblast

R @Y S daka ey e @i dY e ¥ 9
Heo & 7

(1) Erre | (2) e

(3) WESHE @) AR

96 The part of sperm that contains hydrolytic enzyme is called :

(1) Head (2) Mid piece

(3) . Lysosome (4) Acrosome

Y@ B TE Wi RTE Tw-oEsiver (eEgifaies) fevaw €9 ¥ S
wEd T 7

(1) i (2) = =m

(3) wrEEEE (4) gmEw

97 Select the correct statement :
(1) The uterus of human female is bicornuate -
(2) Rats and Rabbits have simplex uterus

(3) Estrogen and progesterone help in implantation of blastocyte on
uterine endometrium

(4) After puberty uterus loses its cyclic change capability
T FUF W T B

(1) 7Fa " & maiee sl & ¥ o

(2) uE® I TN B A WA S@0 § |

() UL qar MR Wi F TeriEm ®l yu (SRS &
Aoy & R AR ww@ R

(4) derErar & QAR THINE HU HRE YGHE B Argal @ Il $l
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98

99

100

e

Photorespiration is stimulated in which of the following conditions :

(1) High CO, (2) High O,

(3) High CO, and low O, (4) High O, and low CO,
Preife e Tamel ¥ wemer-gaes SAR@ war ¥ 7

(1) = €O, @ =0 |

(3) @= CO, v F= O, (4) = 0, 7 FE CO,

Opening and closing of stomata is controlled by :

(1) . Ferric ions (2) Potassium ions

(3) Magnesium ions (4) Zinc ions

&t @ g g 99 o fFrta d@w ¥

(1) e SR & ) uRREm ol &

@) THREw aER @ @) R o &

In photosynthesis, the first stable product of Calvin cycle is -

Oxalo acetic acid (2) Phosphoglyceraldehyde

(3) Phosphoglyceric acid (4) Ribulose-1,'5 - biphosphate

Waiﬁaﬁw%mﬁaﬁmmummﬁm%:
(1)@%@@%% @) weEnhTEieTEs

@) wERiwEE 9o (@) TEAT-1, 5 — TR
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101 Which one of the following molecules, connects glycolysis and Kreb's

cycle 7

(1) Acetyl CoA ' (2) Citric acid

(3) Oxalo acetic acid (4) Pyruvic acid
ﬁmﬁf@ﬂﬁ%ﬁﬁmaﬂﬁmﬁﬂwmmwaﬁﬁﬁw%
(1) Thremw H-TEET @ uEiew ok

G) sfw im0 @) TEhE R

102 Match List-I and List-TI and select the correct answer by using codes given
below the lists : :

List-1 (Plant hormones) List-I1 (Discoverer)

(A) Auxin (i) W. C. Liu and H R. Cairns
(B) Gibberellins (i) FW. Went

(C) Abscisic acid (iii) Letham and associates

(D) Zeatin (iv) T Yobuta and T. Hayashi
Codes :

O A6  ®)-Gi;  (©-GD); D))
@) (@AG); @) (©-0; D)D)
@) @Gy @)@, O-v;  @)-0)

@ Qv @6 (O, O

@Iﬁ@ﬂ%gﬁa%@am@ﬁ%%ﬁq@@ww
@ TY G T B T HINE

TRl (TR TEE) T (@) |

(&) | () g W T T AL FAF
®) i () TH S A=

€) dfatew ok (iii) «em g wEEam

D) faafes Gv) & dgz T A sl

T

Q) (A @)-Gi);  (©)-G);, D))
@) WG, @)Gv); ©-0); (D))
@) WG ®)-G); (O-Gvy @)X

@ (A-Gv; B0 (O, @)-G)
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103 Opening of a floral bud is an example of :

(1) Epinasty (2) Hyponasty

(3) Thermonasty (4) Thigmonasty
T Y9 wive #1 fgw, sgmr o

() Swlafew = - @ ogReEd W
@) TEggET w (@) weiggE @

104 Which one of the following elements is a micronutrient for plants ?

(1) Magnesium (2) Manganese
(3) Potassium (4) Sulphur
ﬁwﬁr&wﬁ@raﬁqmaﬁwﬁﬁgﬁmﬁwﬁm%?
(1)  Fiwe (2) T

(3) URREH (4) TE

105 Representation of a wide range of data in the form of a circle, which is
divided proportionally to the size of data, is called :

(1) Pie diagram n (2) Psi diagram
(3) Chi diagram (4) Bar diagram

T fogd W & aiwEt @ 9w & wv § Peww, @ wies % e
& waguies v @, weomn &

(1) R ™ () wE smw
() % smw (4) I @
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106 In a moderately symmetri¢al distribution -

(1) Calculate que if medi#n and mean are 24 and 25 respectively
(i) Calculate median if mode and mean are 30 and 33 respectively
The answers obiained are :

1y @) 32 Gi) 23 @) (i)- 23 (i) 22

3) () 22 (i) 23 | 4) @) 22 G 32

TF TR g de A

() wEEH B WA MY, I GftmEr OF W BES 24 T 25 @

(if) q&ama%wma%ﬁq,uﬁam@mﬁqmsr: 30 9 33 &

() @) 32 Gi) 23 _ 2y () 23 (i) 22
3) @ 22 Gi) 23 @) () 22 (i) 32

107 When N is the natural number the standard deviation (SD) of first 10 natural
" numbers shall be :

(1) 3.87 2 8.25
(3)' 2.87 (4) 10.89

W9 N wipfas @& €, W 799 T8 TR deEielt 1 qMe Rraws &
(1) 3.87 (2) 825

(3) 2.87 (4) 10.89
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108 The value that occurs the largest number of times in a series is

known as :
(1) Mean ' (2) Mode
(3) Median {4) Arthmatic mean

Rt S ¥ 7E wm, o oftman O o ¥, e §
(1)) e ?) wEEw

(3) after @ unm e

109 According to Addition theorem of probability, the probability of success
in getting Head on tossing a coin is :

(1) P (Head) = P (Head OR Tail) — P (Tail)
@ P (Headj = P (Head AND Tail) — P (Tail)
(3j P (Head) = P (Head AND Tail) + P (Tail)
4) P (Head) = P (Head OR Tail) + P (Tail)

wimaell & 9 § W F OYER, T UEd % dufdne o o wita
% GHAT B WG BT & :

(1) P (W) = P (s o1zn g=m) - P (9)
(2) P (3¥) = P (s o 7=8) - P (T=)
(3) P (3¥) = P (30 wd g=®) + P (gW)

(4) P (30) = P (30 oreean gem) + P (T)
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110 The direction of regression line is indicated by :
(1) The absolute value of intercept
(2) The sign of intercept
(3) The absolute value of regression co-efficient

(4) The sign of regression co-efficient

gﬁmw%@ﬁﬁan@ﬁ@?h%—
(1) éia:@va%ﬁﬁwam

(2) ofEe & fre 3w

(3) whmeww Joie & P @ &

4 e e F o g

111 Which form of chromatography does not utilize the mobile phase for

interacting with the analyte ?
(1) HPLC (2) Paper chromatography
(3) Gas Chromatography (4) Column chromatography

fog yar B oiifaa, fawds ¥ oafea ¥g hetw ween w1 sw@

& E 7
1) wa W uw 9. (2) 9T Fuifad
¢) e e @) e wuidRa
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112 Which one of the following is made use of in ELISA to identify a
substance ?

(1) Antibodies (2) Antigens
(3) Cytokine , (4) Detergents

Fraiefles & @ fegar swir ELISA 4, gl vared % aifPrafor 3y,

fpar smr & 7
(1 wiweeh 2) v
(3) wEAEET (4) eTRH

113 Which type of wavelength is made use of in colorimetry to determine the

concentration of a solution ?
(1) Fixed wavelength in visible light range
(2) Precis%: wavelength in visible light range
(3) Ultra violet wavelength

(4) Infra red wavelength

mﬁﬁr&ﬁﬁmqﬁmwmﬁ%%q%&maﬁm—%ﬁ
® ST fr Swr ¥ ¢

(1) 39 v T § PReg aor duf
@) 397 T wWE § afige v v
(3) Tl 2w

(4) E adn duf |
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114 Which of the microscopes allow micro-organisms to be seen alive and

without killing, fixing staining and mounting ?
(1) Fluorescence microscope

(2) Confocal scanning laser microscope

(3) Phase contrast microscope

(4) Bright field microscope

g gemsl w0 genliEl &), ﬁmqﬁawﬁmﬁaﬁw a{ﬁqm:ram
R f6d, Gﬁhﬁmﬁ%mmm%? | |

(1) vl et
(2) wTR wwEE wEY yeEsl
() wEwE Ruaig ekt

@ gqérta & geaet

115 Pheromone:s in Silk moth serve as stimulator of -
(1) Sexual behaviour (2)  Aggressive behéfiour
(3) Paternal behaviour (4)  Territorial behé\'ridur.
b B X S e wd ¥
(1) @fE =9er (2) HHHE HIABER

(3) Ig® =R @ %’ﬂww_j
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116 In insectivorous bats, feeding behaviour is related to successful

function of :

(1) Eye {(2) Nose

(3) Sonar system (4) Echolocation sensor system
Pevell TES ¥ WeW TV B % AR el awd sl o
ey ? - '

1) = 2 -

(3) WX g @ uﬁr&a‘vﬁ RECIK IS )

117 The worker Honey bee performs the following type of dance before the
fellow bees (in a hive) when the nector is about 100 meters away from

the hive
(1) Waggle dance (2) Circular dance
(3) Straight line dance (4) Cross dance

st wyg T Bea T @ g e @i (@ s X i ¥) & wen
T & W9 AHia B ¥ 100 M W B W

(1) oW (2) Igw T

(3) W e g @ Tt T

118 Which of the following are hot spots of Rajasthan ?
(1) Bharatpur Lake, Sariska Forest and Thar Desert
(2) Bharatpur Lake, Sariska Forest and Tal Chhapar
(3) _Sa_mbhar Lake, Sirohi Forest and Tadgarh
(4) Sambﬁar Lake, Sirohi Forest and Tijara
frfafed § ¥ ToraN & de-die B ¥ ¥ 7
(1) ¥R A, shew a1 9 or |
(2) TR AW, Wi & qW B
(3) wWY F|, Rd a1 9 T=w
() W dw, R T R
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119 Tadgarh-Raoli Wild Life Sanctuary area is located in the Aravalli range
passing through which of the following districts :

(1) Ajmer, Pali and Rajsamand
(2) Ajmer, Rajsamand and Udaipur
(3) Bhilwara, Pali and Rajsamand
(4) Bhilwara, Pali. and Udéipur

m—mﬁﬁwvﬂﬂmﬂm@éﬂﬁﬁﬁﬂﬁﬁﬁ%%ﬁﬁhﬁw
W e udd geen § Rag ¥ 7

(1) mﬁﬁr,miﬁam
(2) O, IWEEHE 9 S
() WeEE, T T eEE
@) AR, oW T IeEyT

120 Which of the following plant species are endemic in ‘India ?
(1) Atropa beladona and Morus alba
(2) Bombax malabaricum and Datura metel
() Feronia limonia and Vitex negundo

(4) Ficus pumila and Coffea arabica
Prefefem & § @9 & ey ol wra ¥ fageesh ¥ o2

(1) Tehr swshr 7 Ta o

(2) =T wmERen T sz fred
@) e arfar 7 astew fys
@) W‘gﬁmaaﬁﬁm@ﬁw__
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121

122

123

"Learning is the modification of behavior through experience and training".
It was stated by :

(1) Gates (2) Colvin
(3) C. E. Skinner (4) Prassy

“Erfbqua‘aﬁua%maamﬁaﬁmﬁvﬁaﬂ:raﬁmﬂnm
®ed ¥ qe waT fvem § 9w b

() =ew ) @ik
3) @ ¢ few @

A child starts learning

| (1)  When she/he is admitted to a school

(2) When she/he starts talking.

(3) When she/he moves out of his home
(4) Since his birth

% Wl qww deT gE wwer o

(1) v 98 famea ¥ wdor Ramr wmar 3
(2) = ¥® S gE war B

() ¥ a9 W ¥ Y P ¥

@ &= 5= ¥ A

Development of capability is another name for X

(1)  experience (2) maturity

(3) physical development. (4) skill development
gl & R w1 @ am v o

(1) sigwe ) R

3) wifw fem @ ww R
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124 Psychology has made education :

(1) Curriculum centred (2) Teacher centred
(3) Child centred (4) Subject centred
WAt e @ o Ran ¥ o

(1) urerEt Hik @) e @

@) =@ Hba @) foww @fa

125 Which of the following is not included in the three relationships in
education according to Ryburn ? :

(1) Relation between child and teacher

(2) Relation between child and society

(3) Relation between teacher and subject

(4) Relation between subject and child

Pt A /@ @e TEe & ogEar fen ¥ 9 wddt § wfufea
TR T )

() ¥ ox fiws ¥ ¥y (@) == &R e A ey

(3) Twem oy g & deu () Tawg o s= & €9y

126 Learning dutcomes means |
(1) Change in the behaviour of the student
(2) Change in teaching method of the teacher
{3) Reorganization of the subject matter
(4) None of the above
(1) W% & =WEER W BN a@r qegdd
2y e ot e et § wfeds
() ey W AR
() sogR ¥ ¥ B T
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127 Which of the following is not a characteristic of adolescence 7

(1) Physical changes (2) Stability in behavior

(3) Problem of instability (4) Emotional problems
. Frtefas & d-—ar fosirere &1 wao a8 ¢ 2

(1) omif e 2) =EErR ¥ Rawar

() oftatar @& auen (@) wATeTE wHEnd

128 Educationél psycilqlogy helps a teacher for
(1) geti:ing. knowledge of child devefopment
(2) knowing child's nature and behaviour
(3) character development of children

(@) all the above

e e e @ W @ &
(1) % fyom & 99 v =@ F

(2)WWWWW%?T

@) == % wim Fror

@ s wf % fog

129 Which of the following is not an objective method of studying educational
psychology ?

(1) Experimental method (2) Clinical method

(3) Introspective method - @ Observational method
Prafefea § 4 @w e Tikem $ gwe @ aghes Ry
& %P

1) warres Tty @ S

(3) onetrlan fifa - @) i fafy
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130 In which of the following instinct does not match with the related emotion ?

(1) Escape - Fear

(3) Combat - Anger

(2) Appeal - Wonder

(4) Repulsion - Disgust

frafefes & ¥ el Tl deg 3 & 9 ¥ @t ?

(1) 9™ - 99

(3) JStEa — @y

2) daeT — anyed
@) ofrr — gon

131 The emotion which generally gives happiness is :

(1) Distress

(3) Hunger

aE W wErE: g@ & § ¢
(1) e

@) ™

(2) Loneliness

(4) Positive self-feeling

@) UHEuT
4) oreThEE

132 Which of the following is an example of abstract sentiment ?

(1) Respect

(3) Animaly

(2) Residence

(4) Anger

Prefefe ¥ ¥ ww-w o w@E | ¥ 7

(1) o=x

@)
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.133 Saying few words of sympathy to an aggrieved person is an example of :
(1) Active sympathy (2) Passive sympathy |
3) Personai sympathy (4) None of the above
Rl gl =i W TR B 9w wen Rraer aEer ®
(1) whF weyf @) Fifwa semafy
& e wETIRY @) wode & B T

134 What is not correct about the development of an individual;?
(1) It continues from birth to death
(2) Growth is a part of development
(3) Changes can be seen and measured

(4) All of the above
fot iR & R % ddu ¥ T owd W Y 7
() =& 5 ¥ 77 7% w0 T ¥

(2) dfe, Foem w1 e Rwn ¥

3) qﬂaﬁﬁr%@raﬂtwmmi{!

@) SE Gl
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135 According to Stanley Hall :

GET IT ON
Google Play

(1) Youth represents the energy of the present and the hope of the future.

(2) Adolescence is a period of great stress and strain, storm and strike/

(3) Adolescence is a tide which begins to rise in the veins of youth.

(4) Adolescence is a shift from childhood to maturity.

BN T % FIEN

') ﬁﬁshaﬁqﬁa?rsﬁaaﬂ'{mﬁmnﬁwm%l

(2) TR &= d@ud, aWE, e aur Ry e et ¥

(3) Tl @@ R ¥ W awd W T A ve N e war ¥

@) T so9 4 iua=aar @ ik T B

136 Which of the following is not a characteristic of adolescence ?

(1) Physical development

(3) Importance of group

frefaflgg & ¥ Sl o & fgwar T$ 2 ?

(1) e e

3) wE @ WA
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(4) Fast adjustment

(2) Wk faem

4) e e

(2) Mental development
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137 Learning related abilities may be developed among children :

138

GET IT ON
Google Play

(1) Through creative activities

) Through self expression

(3) "_fﬁmugh cooperative functions

(4) Through self assessment |

el ¥ oI el Aamel w1 R €@ ¥ o
(1) e B % W

(2) ot &

(3) wEAMTH® @A o

4) aﬂéqq'ra?r g

The factors like fatigue and illness mainly affect :
(1) .Emotional development of child

(2) Physical development of child

(3) Will power of child

(4) Self confidence of child

'W&ﬂ?‘q‘ﬁr{’rﬁ%wg@:m%umﬁamﬁ%f

I iy ——
(2) s % e fom =
() ¥& W W AR B
(4)@%%561@&:331«3&
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140

141

GGEBI:()gI1e Play

"Learning is a process of development”. Who said this 9

(1)  Woodworth (2) Thorndike
(3) Morgan | (4) Cronback
“@w,mﬁm%”asﬁmﬁwm 7
(1) gead | (2) urtems
@) =t 4 wds

Which of the following ié not correct about leaming ?
(1} Learning is doing some thing new '
(2) Learning is organisation of experiences
(3) Learning may be without any purpose

(4)  Failures in learning are failures i understanding
ﬁﬂﬁ%ﬁﬁﬁﬂ?—mﬁaﬁ%mﬁaﬁﬁﬁ% ?
(1) e 38 7 s 3

Q) @ Ayt @ ERCE ARG

Which of the following is the primary Thorndike's law of I

(1) Law of use (2) Law of exercise

(3) Law of assimilation

4y Law of disposition

earning ?

ﬁﬁﬁflﬁaﬁ@rﬁa—mmmwg@mﬁmﬁﬁw%?
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142 Which of the following is not a stagnation in effective learning ?
(1) Lack of motivation (2) Not relating to life
(3) Learning situation (4) None of these
Frafafgg & ¥ F-—w wwt sfvmm &1 sEdus T RO
() W H @ hew ¥ 7 sem
@) o et @) T A W

143 Which unit of computer has the power of doing complicéted calculations ?
(1) Input unit (2) Memory storage unit
(3) Central processing unit (4) Output unit
I H Y HE ¥ dAfeqd M W B o e 7
)o@ wE @ e s
(3) *EE TR R (@) wEr TS

144 Which of the following is not an activity aid related to teaching learning
materials ?

(1) Over head projector (2) Dramatics
(3) Demonstration (4) Field trip

Prfafaa & & @ Ao oftrm amfil @ deftm o Thilaf e

e T F 7
(1) ofEX ¥ o @) TEH
3) wetw (4) &% waw
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145 In the classroom the type of communication is/are :

(1)  Verbal interaction (2) Non-verbal interaction
(3) Both (1) and (2) (4) None of these
mmaﬁmw_w%m%/%’ :

(1) ies aig:Rem (2) awmies eia’r"m”m

@) =T ) 2 L@ T A e A

146 System approach to instruction is :
(1) Teacher centred (2) Child centred

(3) Classroom centred "(4) Problem centred
AT B T SUH T
(1) foes sk 2) & Ffw

(3) wamHa B @) Wé}?&a

147 Example of learning by group methods is / are :
(1) Discussion method (2) Workshop method
(3) Seminar method (4)  All these o
ofE REl o @Y @ sere &
(1) amfEw fafy (2) wrfsmen Refy
_(3)_%7:‘1%%‘ @ T ash
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148 Which of the following is not correct with reference to adjustment ?
(1) It provides balance
(2) 1t solves the problem
(3) 1t is not a continuous Process

(4) In the absence of adjustment one is surround by tension, struggle
and anxiety.

e % W ¥ Prefien ¥ 4 @ owd @ ¥ 7
(1) o6 9w WA w ¥

(2) T€ EEEA T OGN B R

() w% Friay o Il wiea T R

@) W @ oguRaRy & wie T, W ok Rimet ¥ R
b _

149 One of the environmental factors affecting learning is :

(1) Social surroundings (2) Fatigue .
(3) Mental status | (4) None of these __ j
afrE @yl N q@ wEfEei eRel § ¥ @

1) umte 9fEy (2) uHE

(3) wEkE WX @ T ¥ B

150 Which of the following is a characteristic of mentally healthy person ?

(1) Tolerance (2) Self-confidence

(3) Emotional maturity (4) Al these

Prafifen % § Fe-w Aive BT ¥ T AR W Wy 7
(1) geiEa () TEEEE

() U aiygdE @ ¥ af
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